Phan trim s (s6 bi thiéu)

«P8 A

Tén:

x20% = 16

x 50% =45.5

x 10% = 4.7

x 10% = 6.6

x 80% = 38.4

x 20% = 13

x 70% = 35.7

x70% = 23.1

x70% =41.3

x 60% = 16.2
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Ngay thang: Diém:

x 60% = 39

x 70% = 49.7

x 10% = 2.5

x20% = 1.8

x 50% = 34

x 40% = 32.8

x 40% = 30

x70% =42

x 40% = 6

x 50% = 37.5
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= ﬁ A Phan tram s6 (sO bi thicu)

Tén:__ Ngaythang: _ Piém:____
80 x 20% = 16 65 x 60% = 39
91 x 50% = 45.5 71 x 70% = 49.7
47 x 10% = 4.7 25 x10% = 2.5
66 x 10% = 6.6 9%x20%=1.8
48 x 80% = 38.4 68 x 50% = 34
65 x 20% = 13 82 x 40% = 32.8
51 x70% = 35.7 75 x 40% = 30
33 x70% = 23.1 60 x 70% = 42
59 x 70% = 41.3 15 x40% = 6
27 x 60% = 16.2 75 x 50% = 37.5
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